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Topic:- Child Development & Pedagogy (CDP)

1) A student is motivated to study due to the belief that a good grade will help his/her application for Class Representative. According to the
Humanistic Theory of Motivation which need is he trying to fulfil? / T BT 59 Ay & o799 H31 F e fMRa giar @ % 31 I 3UF /3P Be
R a7 F amdes & wag HI SHAIROT F AHTAaTd! Risia F SR, 98 P rasawmdar $) [R1 B Y HIR R 61 32

1. Esteem Needs / 8 3a=adhdl
2. Self-actualization Needs / 31T fIRAYUT &} a<adhd
3. Social Needs / STHINS Sa=adhdl

4. Physiological Needs / fhar@re® sa=admadr

Correct Answer :-

« Esteem Needs / S31 3{Tagdhdl

2) Which of Marcia's types of identity status is characterized by a crisis leading to commitment? / IRRMAT & f&d SR F ygaH & RS &) 39 =0 gRT
TG o & o uferaegar ot 82

1. Identity achievement / Ugdled 3UeTeddl
2. Identity moratorium / UgdTel AT
3. Identity diffusion / Ugdld JHR

4. Tdentity foreclosure / UEAT HISIGR

Correct Answer :-
« Identity achievement / Ugdld 3TeTeYdl

3) Which of the following idea about learning process is not implied by the theory given by J. Piaget? / Frafafaa 3 $i9 91 R 9. =™ gR g e
Riegia & siftrma &) witean & Wy & fifa i 2

1. Learning is passive assimilation of given knowledge. / 3iferTH 3T 7T 19 &t FAfswa sif@yar |

2. Learning is an internal process of construction. / 31T fmfor &) T sifafe ufshar 81

3. Learning cannot stem from observation or experience alone. /H@I”Tﬂ Had 3fadie a1 STHT I I Ts:f?f b dl|

4. The process of learning makes sense in situations of change only. / 3T &} Ufshar Had TRad- & fRufad & Tugr 7 ot 1

Correct Answer :-

« Learning is passive assimilation of given knowledge. / 3R f&U T I &t fAfsp e 31

4) Children belonging to same age group and sharing similar social background are known as ./ U g T & T PTEAT 3R G AR
TR A A EA_ S ETAAFATAET ]

1. Play mates / Welel &b &Y

2. Friends / 37

3. Class mates / TEUTS

4. Peer Group / AT & HHG
Correct Answer :-

o Peer Group / [T T 3E7 Y

5) Low student engagement inside the class could be because of - / D& F iR sEFtaa wswﬁran fFasrRUA €f ot %—



1. model based learning / Fise MR 31fareT
2. Cognitive conflicts / HTATcHD HEY

3. Interactive sessions / HaTGlcH® TF

4, the lack of interest / T &7 PHaAT

Correct Answer :-

« the lack of interest / $RY & &haly

6) Observation is an example of: / 3AWIPT BT TP IATEIV @ :

1. Assessment / 3Tchelel

2. Evaluation / Fgidhed

3. Measurement / AT
4, Test / G1&TOT

Correct Answer :-

e Assessment / 3Tchelel

7) A disability present in which of the following? / af>rafaf@a # @ frw # va snavoAar Ao 82
1. All of these / Iudad aeft
2. Continence, dexterity or physical coordination only / hael JTcHEIH, ﬁl‘gﬂ?ﬂ, a1 ARG aFeaa

3. Speech, hearing or eyesight only /ael HIYUT, S/goT a1 ¥
4. Mobility, perception or memory only / &ael aifaefierdr, 3@ ar THfd

Correct Answer :-

o All of these / Iudad it

8) involves a stimulus which strengthens the probability of the expected response. / # wF 3aeen gFAfAT @ @ Y anafaa fafear
Y FHIGT Y gae FIC Bl

1. Negative punishment / ThRIcHD GUS

2. Negative reinforcement / ABRIcHD g?-ﬁi?»l?-[
3. Positive punishment / HhRTcHDb GUS

4. Negligence / STaaTer

Correct Answer :-

« Negative reinforcement / ThRTcHDp g«“—ﬁ‘lﬂﬂ'

9) Which approach to teaching does strengthen one’s memory? / f¥870T & forw sler-ar eieswior fanedt i Fﬂf?l’iﬁ‘f HoTq HIAT
H

1. Multisensory / SgEdat

2. Visual memory / €T F{%

3. Tactile memory / T F{ﬁ

4. Audio-lingual / ifza-fooad

Correct Answer :-

« Multisensory / EEW



10) According to Kohlberg level of morality is determined by social norms explicitly or implicitly agreed upon by a group of people. / el &
IR, AfaFar F1 FaR GEISF AREE g@nT ¥9se ¥ § AuiRa gar ¥ ol F oF wag qEann FOse ¥ ¥ WA g g

1. Post-conventional level / T=9-URURS wR

2. Conterventional level / BleeaRTeel FX

3. Pre-conventional level / q\?ff-qﬂ'qﬁiﬁ EX

4. Conventional level / IRURF FR

Correct Answer :-
« Conventional level / TRUR@& TR

11) What is the process by which information is lost from the long term memory due to nonuse? / a§ wfFar 1 §, orwd @ el wfa & F:§ oo
IHATAT N F FROT FATS Sl §?

1. Delay / fei@
2. Decay / &1
3. Rehearsal / q@eamg

4. Interference / TEAATT

Correct Answer :-

e Decay / &I

12) What does Kohlberg’s theory of development focus on? / Heaad ¥ R #1 gy Fa w Foga §2
1. Moral judgement / fds Ao

2. Moral behavior / 3% =gagr

3. Cognitive judgement / HATcHS 0T

4, Judicial behavior / =aTR® aER

Correct Answer :-

« Moral judgement / Afde o

13) What type of model describes development as a passive, predictable response to stimuli? / 7@ 9#R F1 Alsa Newrea & AT & WF, spnfaa
sRafFa & w0 # Jew F1 avia war 2

1. Organismic model / 3iRifcH® AT

2. Mechanistic model / JFad Alsa

3. Attentional model / 3T HAiser

4. Descriptive model / aoiaTcae Fige

Correct Answer :-

+ Mechanistic model / IJFad HAlsa

14) What does OCD stand for? / 3iigt (OCD) &I qof ¥ &1 §?
1. Obsessive-Compulsive Design / JcAfa-wrufeaa ESIEC

2. Obsessive-Compulsive Disorder / Jeafg-Fmrafeqa a3
3. Obsessive-Cognitive Disorder / ATedf¥d- ®ifdefea B3I
4, Office of Cognitive Design / 3Tfthd 3% Hifdcfea s

Correct Answer :-

e Obsessive-Compulsive Disorder / JAfa-wrufeaa Ba3iE



15) Theories of Child Development explains: / STl fa@ma & Riguia aftia & § &
1. How children grow and change. / 90 @ dgd 3R gcold &I

2. How children behave in schools. / 923 Teil # HaT TIdeR d &l

3. How children are educated. / g=d & Rifga @ €I

4. How children react to situations. / g=d gRfeufaat 3 & ufafrar & €I

Correct Answer :-

« How children grow and change. / I=d &l dgd 3R dgeld &l

16) Which famous psychologist first proposed the theory of Insight Learning from his study of chimpanzees? / & gy saidwnfas 3 wgell IR Riwsh w®
I R I sremee @ Iafe sifte & Riquia (caW 3w seamse aftr) & wfawfee fFr?

1. Edward Thorndike / Tsda$ UTisTsd
2. Wolfgang Kohler / aremaiem dlger
3. Jean Piaget / i st

4, Tan Pavlov / Far raeld

Correct Answer :-

+ Wolfgang Kohler / @le®dlaT dlgeR

17) Which of the following is an intelligence test? / Fafaf@a & ¥ sla-ar w gﬂ;ﬁl’ gfiator &7
1. Locus of Control Test / @&y T ﬁAT‘I T

2. Sentence Completion Test / dTFT Tﬁ?ﬂ gdator

3. Myer-Briggs Type Indicator Questionnaire / #RR 398 e3u Tohaeh GsTaeh

4. Binet-Kamat Test / fdeic-aard udiator

Correct Answer :-

« Binet-Kamat Test / Taeic-araAd ulraTor

18) Which of the following is not a type of reasoning? / AFfaf@d & ¥ FIa-AT vF I&R FT aF AL 82
1. Syllogistic reasoning / SUGUBRT & (RAfasiifaies dsfam)

2. Deductive reasoning / fedtaread ad (BsfFea d=tfeom)

3. Transference reasoning / 3f=aRIYUT A%

4, Transductive reasoning / URellfhes T (g=asidea dfam)

Correct Answer :-

« Transference reasoning / 3=IRITUT qh

19) Which of the following is not a gateway drug? / AF=ifaf@a & @ Fla-a1 v Aeq zor 7d 872
1. Alcohol 7 RTT

2. Tobacco / ddTR

3. Marijuana / 'H'Iﬁq}l'lﬂT

4. Cocaine / IhleT

Correct Answer :-

« Cocaine / PIhIA

20) Which of the following is not the focal point in the process of teaching? / Feaifaf@a # ¥ wla-at Ravor A ufrar & g fig 7t B2



1. Pupil / ©1F

2. Content / |THA;

3. Teaching method / fratoT fafy
4, Teacher / &1

Correct Answer :-

« Teaching method / fRigor fafy
21) Which one of the following is the symptom of ADHD? / RFafaf@a & ¥ ia-ur wivas) 1 dayor &2
1. Boredom / 3T

2. Stuttering / Sh eIl

3. Hypersensitivity/ 3ifaeaearefrerar
4, Hyperactivity / 31fa @fehaar

Correct Answer :-

« Hyperactivity / 31T @fergar

22) Vygotsky’s Theory of Language is based on learning theory. / IRENER $ 9T F1 RAgeia A & Rgga | smufa #1
1. Behaviorist / cTagRaTY

2. Cognitive / HATcHSD

3. Constructivist / Ig=AT@TET

4. Emotional / #TdTcHSD

Correct Answer :-

« Constructivist / ITTATE

23) is one of the many ways through which culture affects development. / F§ a0 A ¥ v ale ¢ owE aeaw @ '\‘i'Ffﬁ', CEac:y
 wnfaa e #1

1. Religion / &a¥
2. Context / Tea
3. Language / H#TYT

4, Environment / GRAT

Correct Answer :-
o Language / $T9T

24) is studied under Personality and Social Development. / HT YIS AFdea 3R ToF Rew & aia
fFar e R

1. Egocentric behavior / 3fTcathigd TITeR
2. Memory process / H{ﬁ gfoRaT

3. Perceptual acuity / TAURUMcHD &OTAT
4. Premature birth / FHT ¥ qd oA
Correct Answer :-

« Egocentric behavior / 3TTcdthigd IR

25) The purpose of scientific investigative learning in education is: / fRv&TT # dfas sg wf @& 33?’?21' ?:



1. To encourage collaborative work / gAY Fraf @y HicaTfed R & fow
2. To complete the curriculum content / UTaIha HIHIA & QU & & forw
3. To build scientific literacy / <TTfih TTERAT T AT e & forw

4. To provide hands-on experience in class / H&T B Ucel 3IHT UGH A & farw

Correct Answer :-

« To build scientific literacy / d<TTieh TT&ERAT Pl AT wer & o

26) Outlining the expectations from the students will enhance their learnability. This task becomes part of : / I & 31%aT3T F T FA ¥ & A
atHar # gefdr gl IF F Tt &1 Rear @ omar @

1. Summative assessment / HRITAA 3Tehelel

2. Assessment of learning / 3ifQaTd &7 3ol

3. Assessment as learning / 31fQ917 & Fq F 3Ther
4, Assessment for learning / 3f9TH & fow 3Mehera
Correct Answer :-

« Assessment for learning / 3f9TH & T e

27) When social values and beliefs are deliberately changed in an individual, it is known as ./ 5% gAfoS Hﬂ?’-ﬂ 3R ATt B SIATART et
=gfda # yRafda #v ar smar g, ar s@ w0 & F=E ST B

1. Secondary Socialization / fgciizies TaTSiIRTOT

2. Primary Socialization / T3 TaTSIRIOT

3. Anticipatory Socialization / TRl FHATSHHIOT
4. Re-socialization / GeT: - TS0

Correct Answer :-

* Re-socialization / GeT: - HATSIRIOT

28) “Practice makes man perfect” can be example for which law of Thorndike? / 37318 HeJ>T HI ‘Iﬁ"f[\‘ﬂ' AT §1" Al & 9 fuw F v
3GTEIIT B AT 82

1. Law of exercise / 3{¥1H &I frw

2. None of the above / 30 & & IS AT
3. Law of readiness / dcu’dl &l faga

4. Law of effect / UTd &1 fAgH

Correct Answer :-

« Law of exercise / 3% T 499

29) “The Hierarchy Theory of Motivation” is a theory proposed by: / “Q0TT &T HeJhd m}-ﬁ?{" Eocy SaRrT gfaaifea fram arm:
1. Abraham Harold Maslow / 3TsITgdH %ﬁ?é ATEAT

2. Le Semyonovich Vygotsky / off fad=ITaa amgaiceehr

3. B.F. Skinner / d1.0%. f&her

4. Jean William Fritz Piaget / ST faforaar frcar famsr

Correct Answer :-

o Abraham Harold Maslow / 3TsIT&d %I“vg ATEAT



What is called education acquired without any specific purpose, fixed period and place? / fH! faffse 3ggew, fARaa safr 3R Fa=r & fem
AT RN FY FAT FeT AT 82

1. Formal Education. / 3itgamRes e
2. Informal Education / 3itaanRes et
3. Indirect evaluation / UcT&T HedThd

4, Individual Education / zafhara vt

Correct Answer :-

« Informal Education / 3/dita=nRes fretr

Topic:- General English(L1GE)

1) Read the following passage and answer the question that follows:

Selective disobedience, the most amazing thing about guide dogs: they know when to obey and when to disobey to keep their owner safe. Selective
disobedience is extremely important at road crossings, where the owner and dog must work very closely together to cross safely. When they reach the
kerb, the dog stops and signals to the owner that they have reached a crossing. Dogs cannot recognize the colour of traffic lights, so the owner must
decide when it is safe cross the road. The owner listens to the sound of traffic to judge when the light has changed and then gives the command
'forward'. If there is no danger, the dog crosses the road. If there are cars coming, the dog waits unless they pass and then crosses. The owner can't see
obstacles so the guide must help the owner to avoid them. The owner is like the navigator on an aircraft who knows how to get from one place to
another, and the dog is the pilot who gets them there safely.

According to the passage, which one of the following statements is true?
1. The dog is the only pilot of the plane.

2. The dog doesn't know the way, so it follows the owner's instructions.

3. The dog decides where the owner is going.

4. The dog knows the way, so the owner just follows.

Correct Answer :-
» The dog doesn't know the way, so it follows the owner's instructions.

2) Read the following passage and answer the question that follows:

A certain merchant had two sons. The elder son was his favorite, and he intended to leave all his wealth to him when he died. The mother felt sorry for
the younger son, and asked him not to tell the boys of his intention. One day the mother was sitting at the window weeping. A traveler approached her
and asked her why she was weeping. “"Both my sons are equal, but my husband wishes to leave everything to one and nothing to the other,” she said.
The traveler said to her, "There is help for your trouble. Tell your sons that the elder will receive the entire inheritance, and the younger nothing. Then
they will be equal.” The younger son, on learning that he would inherit nothing, went to another land, where he learned a trade. The elder son lived at
home and learned nothing, knowing that someday he would be rich. When the father died, the elder son who did not know how to do anything, spent all
his inheritance, whereas the younger, who had learned to trade, became rich.

Read this sentence from the story. The mother felt sorry for the younger son, and asked him not to tell the boys of his intention.
Which word means about the same as “intention”?

1. Regret

2. Plan

3. Reason

4. Hope

Correct Answer :-

« Plan

3) Read the following passage and answer the question that follows:



Selective disobedience, the most amazing thing about guide dogs: they know when to obey and when to disobey to keep their owner safe. Selective
disobedience is extremely important at road crossings, where the owner and dog must work very closely together to cross safely. When they reach the
kerb, the dog stops and signals to the owner that they have reached a crossing. Dogs cannot recognize the colour of traffic lights, so the owner must
decide when it is safe cross the road. The owner listens to the sound of traffic to judge when the light has changed and then gives the command
'forward'. If there is no danger, the dog crosses the road. If there are cars coming, the dog waits unless they pass and then crosses. The owner can't see
obstacles so the guide must help the owner to avoid them. The owner is like the navigator on an aircraft who knows how to get from one place to
another, and the dog is the pilot who gets them there safely.

What happens when the owner gives the command 'forward' at a crossing?
1. If there is traffic coming from the other side the dog waits.

2. If there is danger the dog crosses the road.

3. The dog waits for the next command.

4. The dog moves forward.

Correct Answer :-
« If there is traffic coming from the other side the dog waits.

4) Read the following passage and answer the question that follows:

Selective disobedience, the most amazing thing about guide dogs: they know when to obey and when to disobey to keep their owner safe. Selective
disobedience is extremely important at road crossings, where the owner and dog must work very closely together to cross safely. When they reach the
kerb, the dog stops and signals to the owner that they have reached a crossing. Dogs cannot recognize the colour of traffic lights, so the owner must
decide when it is safe cross the road. The owner listens to the sound of traffic to judge when the light has changed and then gives the command
'forward'. If there is no danger, the dog crosses the road. If there are cars coming, the dog waits unless they pass and then crosses. The owner can't see
obstacles so the guide must help the owner to avoid them. The owner is like the navigator on an aircraft who knows how to get from one place to
another, and the dog is the pilot who gets them there safely.

What do you mean by selective disobedience?

1. Knowing never to obey to disobey the owner.
2. Knowing when to disobey the owner.

3. Knowing when to obey and disobey the owner.
4. Knowing when to obey the owner.

Correct Answer :-

« Knowing when to obey and disobey the owner.

5) Read the following passage and answer the question that follows:

A certain merchant had two sons. The elder son was his favorite, and he intended to leave all his wealth to him when he died. The mother felt
sorry for the younger son, and asked him not to tell the boys of his intention. One day the mother was sitting at the window weeping. A traveler
approached her and asked her why she was weeping. “Both my sons are equal, but my husband wishes to leave everything to one and nothing to
the other,” she said. The traveler said to her, “There is help for your trouble. Tell your sons that the elder will receive the entire inheritance, and
the younger nothing. Then they will be equal.” The younger son, on learning that he would inherit nothing, went to another land, where he
learned a trade. The elder son lived at home and learned nothing, knowing that someday he would be rich. When the father died, the elder son
who did not know how to do anything, spent all his inheritance, whereas the younger, who had learned to trade, became rich.

Which word best describes how the mother feels after hearing her husband’s decision?
1. Shocked
2. Helpless
3. Cautious

4. Uncertain

Correct Answer :-



6) Read the following passage and answer the question that follows:

A certain merchant had two sons. The elder son was his favorite, and he intended to leave all his wealth to him when he died. The mother felt
sorry for the younger son, and asked him not to tell the boys of his intention. One day the mother was sitting at the window weeping. A traveler
approached her and asked her why she was weeping. “Both my sons are equal, but my husband wishes to leave everything to one and nothing to
the other,” she said. The traveler said to her, “There is help for your trouble. Tell your sons that the elder will receive the entire inheritance, and
the younger nothing. Then they will be equal.” The younger son, on learning that he would inherit nothing, went to another land, where he
learned a trade. The elder son lived at home and learned nothing, knowing that someday he would be rich. When the father died, the elder son
who did not know how to do anything, spent all his inheritance, whereas the younger, who had learned to trade, became rich.

Which of the following statements best describes the theme of the story?

1. Learning how to earn money is better than having money given to you.

2. Inheriting money brings bad luck.

3. Some people have to work hard for success; others have success handed to them.

4. Siblings should learn to get along with one another.

Correct Answer :-
« Learning how to earn money is better than having money given to you.

7) Read the following passage and answer the question that follows:

A certain merchant had two sons. The elder son was his favorite, and he intended to leave all his wealth to him when he died. The mother felt
sorry for the younger son, and asked him not to tell the boys of his intention. One day the mother was sitting at the window weeping. A traveler
approached her and asked her why she was weeping. “Both my sons are equal, but my husband wishes to leave everything to one and nothing to
the other,” she said. The traveler said to her, “There is help for your trouble. Tell your sons that the elder will receive the entire inheritance, and
the younger nothing. Then they will be equal.” The younger son, on learning that he would inherit nothing, went to another land, where he
learned a trade. The elder son lived at home and learned nothing, knowing that someday he would be rich. When the father died, the elder son
who did not know how to do anything, spent all his inheritance, whereas the younger, who had learned to trade, became rich.

The merchant believes that in comparison to his elder son, his younger son was
1. untrustworthy

2. irresponsible

3. less important

4. less intelligent

Correct Answer :-

« less important

8) Read the following passage and answer the question that follows:

Selective disobedience, the most amazing thing about guide dogs: they know when to obey and when to disobey to keep their owner safe. Selective
disobedience is extremely important at road crossings, where the owner and dog must work very closely together to cross safely. When they reach
the kerb, the dog stops and signals to the owner that they have reached a crossing. Dogs cannot recognize the colour of traffic lights, so the owner
must decide when it is safe cross the road. The owner listens to the sound of traffic to judge when the light has changed and then gives the
command 'forward'. If there is no danger, the dog crosses the road. If there are cars coming, the dog waits unless they pass and then crosses. The
owner can't see obstacles so the guide must help the owner to avoid them. The owner is like the navigator on an aircraft who knows how to get
from one place to another, and the dog is the pilot who gets them there safely.

According to the passage, the dog owner is:



1. A blind person
2. A sick person
3. A deaf person

4. A navigator

Correct Answer :-

« A blind person

9) Fill in the blank with the correct option in the given sentence:
When we call a grown man a boy, we are using a -- nomer.

1. dis --

2. mis -

3. astro--

4. mal --

Correct Answer :-

10) Fill in the blanks with the correct option in the given sentence:
The kind-- shown by the townspeople cannot be forgot-- very easily.

1. --est ... --ten

2. --ness ... --ten

3. --ship ... --en

4. —-er ... —ing

Correct Answer :-

e --ness...--ten

11) Which of the following options best combines the given sentences?

This coin is copper. The copper is cheap in quality.
1. This coin, which is copper, is a copper, cheap in quality.
2. This coin, of copper, is cheap in quality.

3. The copper used in this coin is of cheap quality.

4. This copper coin is a copper of cheap in quality.
Correct Answer :-

« The copper used in this coin is of cheap quality.

12) Choose appropriate articles for the given sentence:
___ longest journey begins with ____single step.
1.The..a

2. The ... No article required

3. A..the

4. No article required ... the

Correct Answer :-



13) Choose appropriate article for the given sentence:
__ Africa is the most linguistically diverse continent in the world.
1. No article

2. The

3.A

4. An

Correct Answer :-
» No article

14) Choose the appropriate determiner for the given sentence.

I liked the film, but not the songs were good.
1. all

2. few

3. much

4. some

Correct Answer :-

o all

15) Choose the appropriate option that rewrites the given sentence in its passive voice.
The Spanish conquered many other cultures.

1. Many other cultures were conquered by the Spanish.

2. Many other culture were conquered by Spanish.

3. Many other cultures conquered the Spanish.

4. Many others culture was conquered by the Spanish.

Correct Answer :-

« Many other cultures were conquered by the Spanish.

16) Choose the appropriate option that rewrites the given sentence in indirect speech:
He said, "I have no liking for any kind of cosmetics.”

1. He said that he have no liking for any kind of cosmetic.

2. He said that he had no liking for any kind of cosmetics.

3. He said that I have no liking for any kind of cosmetics.

4. He said that I had no liking for any kind of cosmetics.

Correct Answer :-

« He said that he had no liking for any kind of cosmetics.

17) Choose the appropriate tenses to fill in the blanks in the given sentence:

Ramesh singing every day, but he to perform well yesterday in the concert.

1. practises, failed



2. practised, has failed
3. practised, failed

4. has practised, had failed

Correct Answer :-
« practises, failed

18) Choose the appropriate antonym for the highlighted word in the given sentence.

Sailors from Europe introduced new foods to Americans.
1. Initiated

2. Concealed

3. Overlooked

4. Departed

Correct Answer :-

« Concealed

19) Choose the appropriate conjunction for the given sentence.

Please wait in the classroom the teacher comes.
1. till

2. than

3. as

4. since

Correct Answer :-

o till

20) Choose the appropriate synonym for the highlighted word in the given sentence.
The colony has been deprived even of the basic amenities provided by the government.
1. Equipment

2. Rights

3. Responsibilities

4. Facilities

Correct Answer :-

« Facilities

21) Choose the appropriate prepositions for the given sentence:

The architectisworking ___aplan____ a new train station.

1. for .. on

2. with ...in

3. on ... for

4. against ... with

Correct Answer :-



22) Choose an appropriate modal for the given sentence:

Simran have become a great dancer but she quit practicing early on.
1. should

2. can

3. will

4. could

Correct Answer :-

e could

23) Choose the option that best explains the highlighted expression:
She refused to wear hand-me-downs.

1. wear inexpensive clothes

2. cloths used by someone

3. wear only branded stuff

4. wear clothes out of a box

Correct Answer :-

» cloths used by someone

24) Choose the most suitable pronoun for the given sentence:
Let the class divide ____ into four groups.

1. themselves

2. ourselves

3. itself

4. us

Correct Answer :-

o itself

25) Choose the right tag:

Tomorrow instead of going to Pondicherry with my boss I am going to Chennai,
?
1. don’t|
2. amn’tl
3. won't|

4, aren’t|

Correct Answer :-

e aren’tl

26) Choose the appropriate tense to fill in the blank in the given sentence:

Mrs. Kiran this city a month ago.



1. will leave
2. leave
3. leaves

4. left

Correct Answer :-

o left

27) Choose the option that substitutes the given phrase appropriately.
Highest point of a mountain

1. Nadir

2. Summit

3. Upmost

4. Top

Correct Answer :-
e Summit

28) Choose the right tag:

She always starts from home at 9 o'clock, ?
1. isn't she

2. is she

3. does she

4. doesn't she

Correct Answer :-

« doesn't she

29) Rewrite the following changing the active sentence to passive.

The main skills that analysts seek to develop include analysing, interpreting and evaluating data.

1. The main skills include analysing, interpreting and evaluating data which are sought by analysts to develop.
2. The main skills that analysts are seeking to be developed include analysing, interpreting and evaluating data.
3. The main skills sought by analysts to developing includes analysing, interpreting and evaluating data.

4. The main skills sought to be developed by analysts include analysing, interpreting and evaluating data.
Correct Answer :-

« The main skills sought to be developed by analysts include analysing, interpreting and evaluating data.

30) Read the sentence carefully and choose the option that has an error in it:

When I approached the entrance, I saw that they had went ahead.
1. I saw that

2. they had went ahead.

3. When | approached the entrance,

4. No error

Correct Answer :-



« they had went ahead.

Topic:- General Sanskrit(L2GS)

1)

HTTd Taidd (@) caraedige: Sremrashrer: 3ifed-
 3SCTGRT FHIfoT
Usd gEIfor

. Afor auifor
&er guIfor

1

4

Correct Answer :-

FTOT FEifor

geiteh afdcar TNfATEses T e el Faad -

AZITHFIHAT: 9Tl 197 I>oleHGH: |
3TERIH AT AT TAT AEIE TTFT |

AT dsg laAeIidAG deTFIAVT: |
ToaAlcdl Ag AseaeATIIAT AT ||

“FEIFIANT:” gfd ey wieufdwaeg: 3ed-

| FEITTH+3TAVA:
| GET+3TFIRIN:
| FEATFIRM+SH:
, TP +ATFIRAV:

Correct Answer :-

_ FETfH+37AYA:



uf=ie IfSaar g2aed %agdgrdi qIaqd -

AN HEpaT AW feear A0ERAT FEpdemsT | qgamft, sfidof,
TeIciiel 3TET: AN | 5T AT [deaed UrieTaAyg A9 aREroad |
ST @aar arlieT: e Hede: Aed | Asf SFpasEe 9 Rega
| TRTCIeTTST 3TUSIRISINIA: 3cUoel, 3TSTRMSIST UThcloINIc: T HEHISTSIC:
3cUoAl | UIAUT ARCHAT: |al 3 3Tefeea: INT: HEhcIsISIar: Al
HEAIOT F[Eicar Safed | @aer faeer, fHasagr, wWaHe, Savsee-
AT T FEPASN | TF FIUTHFTo=AT HEPAERN &N 3T ATfed
AR | 3T NI WMEcAATT i, §eedd, Ae-[aaaedtes T
IET | AG-SEAV-INUAD-3UTANG-TS  Gelel-ehicd-wA1Ceh-Tehiehl- T -haT-
AT A M- AT A TR AU - A RAET-IHIG - IO -S AN TR -
THTA-geifa-Crrarededr: faeaid: 37dia dfehar: 37e7ae] | HEpe™ T
ARTET  O&pd:, MAcHRE  ARE, YRER:  @darr: o
TehCTehI TSIl | T: HEDSTN o USTd § UaEAN ATHIUSEIRI
afad: #afd | Redr 3T 3EAH TSCHT | T HEHAS AT &
fecremsi faQveaar AqHeld, Id: RRedr T Halafy arieni¥ee erear
HEHJ-ANT-AUSHINIG, Uq I[ENTd |

Wzmﬂm—

Correct Answer :-

. STecadieY:



el Ufdear reifafdseed ueaed YeHcl Faad -

ATATEFAHAT: U1 AT ToolHard: |
3TETH, A AT TAT AEAE T2l

AT ds§ FaATHG I&AEIAYT: |
Tl A% HASTTSATIAAG AT |l

qrel: HEAA FAAAT: Al M-

. A4

, AedH
LA

, AR



TRTSE UTocar TeaEd ‘\gsgagcd{ g -

a:ﬁﬁruq%mﬁammnﬁ@ma:ﬁﬁﬁm W:Wﬁ'ﬁﬂﬁ?jﬂ'
AFAT | ATGET HAOT Ygicd: WEAT T Adld | dAEHeHATT
THAIERTHT § IRHH T RId | o IR GaT aRadeda ™ st
g &7 | IReEEe & §dguatad:, #dg@iades: I-3ae;,
aFeIfZar oafa Adg: | &6 WH ACIAT: AGRATATT NoRafeg,
fohrg & AWl ceddgsiafd AARYAR | 3 TATE AfdhN:- “3eTHd
eealca R F #aR: | 7% grae beea vlaalea q@ #om” |
3edA 6 & aregd ? @ adsedadnI: 3cded HAY
THAATHATIITSed WU | el IiG &TAHNYI, dIoiddsd, STordes o J2
el o fagenfa, &8 WH F-aAE IR g fasefd FU 9EF g
TANTHRE T ?  AURSATIT &S WHE Ul Fodied,
FFIeared dafed | difoe st dca sieader,
HIEUIfed | goded auiyg U diel HeTdfed | 3STHAGIAT: UIoleed Td
fd dewcord  gumdifear  Slad  @eiled | SeARTRITETSTET:
welefadcid Alged | 3R FEROl AU SaHadersTAET 3T
e |

$T90: AT HAg@a>ae:, HAg:@ided:, HadeTaela: safc-

5 TS
Correct Answer :-

., R

? ge: uRede Rz w- st
3fFa: RAICET 1A ded T2da-

fare

1.




Hesa

2

Hodlt

3.

. ECIE

Correct Answer :-

.ﬁ'alﬂTS:T

? ATHETRHTON YahTereh: faARiehed TaAed-
. ¥ 3R FEORMER

TSR

_ 3fSeTq fasurRme

, f& omfa arer



TRToG gTecar UeaEg Q;ﬁagcd{ qaad -

HHTOT ﬁﬁﬂﬁﬂm TaTATIdRT | ?ﬂ{lﬁ'ﬁ?{: Hel ol &TOTHTY Gﬂﬁ?;[ o
AFANT | AT FAMCT Udfed: eI TT HAdd | JRHeHA
ARAIEIAT § IRSH T HUd | o IRSH &7 FRAATTATT
g &7 : | IREEe & §agEdtad:, #dg@iades: H9-daen;,
gaFeIfzar 9afd Ada: | & WH ACIAET: AGRREAT Nvafag,
fohrq & AWl eeggsTaid AARYAGOT | 3 TATg sAlfchN:- “3THd
Rerafca ®Rvr 7 #aRd: | 7% graey Heeg vlaulea 7@ #om” |
3edA [ o @rega ? |94 adsegadrtd: ELRICiCERCTT:|
HHAAHAERTSled TT0T: | Fuhl Il &TAHYU, dIoadsd, STordeh o J2
Flel 4 fagenfa, &4 WA A-gAE 3¢ vq fassfa &0 q&r g=guifea:
TANTHYT WA ?  AURNSAUI  SFRver: §HE  Ued fodied,
FFTeTed Hafed | Rdifoe sweftereanmSic dca  sisaderis,
IEvlfed | goled auiyg gu dlel #HeTdied | 3GTASHT: WIoleed Td
fd dewcarer  gudifsar:  Slad @eiled | SeARTRITETRSTET:
el cid Alged | 3R Fphvl fAucy SaadelsgAET 3o
R |

frdfae: Fer sicaueraia deeofea?



uf=ie IfSaar g2aed %agdgrdi qIaqd -

AN HEpaT AW feear A0ERAT FEpdemsT | qgamft, sfidof,
TeIciiel 3TET: AN | 5T AT [deaed UrieTaAyg A9 aREroad |
ST @aar arlieT: e Hede: Aed | Asf SFpasEe 9 Rega
| TRTCIeTTST 3TUSIRISINIA: 3cUoel, 3TSTRMSIST UThcloINIc: T HEHISTSIC:
3cUoAl | UIAUT ARCHAT: |al 3 3Tefeea: INT: HEhcIsISIar: Al
HEAIOT F[Eicar Safed | @aer faeer, fHasagr, wWaHe, Savsee-
AT T FEPASN | TF FIUTHFTo=AT HEPAERN &N 3T ATfed
AR | 3T NI WMEcAATT i, §eedd, Ae-[aaaedtes T
IET | AG-SEAV-INUAD-3UTANG-TS  Gelel-ehicd-wA1Ceh-Tehiehl- T -haT-
ITRAT-H R A - A T TR AT - 3RIdE- IO -S A AT
TfA-geffd-cerarededn: fdear: 3idld dfehar: 3787de] | HEHASTST T
AR HEhd:, IefcHeEd AT, YRR §8adRr: 9
TehCTehI TSIl | T: HEDSTN o USTd § UaEAN ATHIUSEIRI
afad: #afd | Redr 3T 3EAH TSCHT | T HEHAS AT &
fecremsi faQveaar AqHeld, Id: RRedr T Halafy arieni¥ee erear
HEHJ-ANT-AUSHINIG, Uq I[ENTd |

FGcdidhely Teh: T H{—qu\ ATTEd-

2

| Sfere



el afdear rfATEser T Teaey e Faad -

HASITOT HeAY Hiaeadia fed |
TAdATY Agrel SiedaeAr dicd decdd: |l

ATl 9 W HeAl JeXd 7 |
G Sl H feaAT: Tepfalsesr ||

HEHY AT Hied vded Tad |

, eTTeY
, I

Correct Answer :-



uf=ie IfSaar g2aed %agdgrdi qIaqd -

AN HEpaT AW feear A0ERAT FEpdemsT | qgamft, sfidof,
TeIciiel 3TET: AN | 5T AT [deaed UrieTaAyg A9 aREroad |
STeTfd HAAT UTiel: A Kade: 3ed | AIsfT FEpasvaE va faegad
| TRTCIeTTST 3TUSIRISINIA: 3cUoel, 3TSTRMSIST UThcloINIc: T HEHISTSIC:
3cUoAl | UIAUT ARCHAT: |al 3 3Tefeea: INT: HEhcIsISIar: Al
HEAIOT F[Eicar Safed | @aer faeer, fHasagr, wWaHe, Savsee-
qAAT T FEPAA | TF FIIUTHFTo=AT HEPAERN #1932 ATfed
AR | 3T NI WMEcAATT i, §eedd, Ae-[aaaedtes T
IET | AG-SEAV-INUAD-3UTANG-TS  Gelel-ehicd-wA1Ceh-Tehiehl- T -haT-
AT A M- AT A TR AU - A RAET-IHIG - IO -S AN TR -
TATA-geifa-Cerarededr: faeaie: 37cia dfehar: 3787ae] | HEpe™ T
ARTET  O&pd:, MAcHRE  ARE, YRER:  @darr: o
TehCTehI TSIl | T: HEDSTN o USTd § UaEAN ATHIUSEIRI
afad: #afd | Redr 3T 3EAH TSCHT | T HEHAS AT &
fecremsi faQveaar AqHeld, Id: RRedr T Halafy arieni¥ee erear
HEHJ-ANT-AUSHINIG, Uq I[ENTd |

ReFcea goFd ge ferwd -
TSR] TEpar _ feear sfiamomiRdr |



uf=ie IfSaar g2aed %agdgrdi qIaqd -

AN HEpaT AW feear A0ERAT FEpdemsT | qgamft, sfidof,
TeIciiel 3TET: AN | 5T AT [deaed UrieTaAyg A9 aREroad |
STeTfd HAAT UTiel: A Kade: 3ed | AIsfT FEpasvaE va faegad
| TRTCIeTTST 3TUSIRISINIA: 3cUoel, 3TSTRMSIST UThcloINIc: T HEHISTSIC:
3cUoAl | UIAUT ARCHAT: |al 3 3Tefeea: INT: HEhcIsISIar: Al
HEAIOT F[Eicar Safed | @aer faeer, fHasagr, wWaHe, Savsee-
qAAT T FEPAA | TF FIIUTHFTo=AT HEPAERN #1932 ATfed
AR | 3T NI WMEcAATT i, §eedd, Ae-[aaaedtes T
IET | AG-SEAV-INUAD-3UTANG-TS  Gelel-ehicd-wA1Ceh-Tehiehl- T -haT-
AT A M- AT A TR AU - A RAET-IHIG - IO -S AN TR -
TATA-geifa-Cerarededr: faeaie: 37cia dfehar: 3787ae] | HEpe™ T
ARTET  O&pd:, MAcHRE  ARE, YRER:  @darr: o
TehCTehI TSIl | T: HEDSTN o USTd § UaEAN ATHIUSEIRI
afad: #afd | Redr 3T 3EAH TSCHT | T HEHAS AT &
fecremsi faQveaar AqHeld, Id: RRedr T Halafy arieni¥ee erear
HEHJ-ANT-AUSHINIG, Uq I[ENTd |

STOTd: Il UTeT: Te2T: ITHATED-



Eﬁ-rc\\ldﬁd‘lo—ﬁl: 3‘]?]3:[ -

il afscar srefAfisery geaed e Faad -

ATIHEFAHAT: TTeT AN TooleHAaTHT: |
3TEAH FHIT AT TAT AL TTFI |

AT dsg FIAATAE FearEadva: |
TGaAlcdl Ag AIseaSATIAAT AT ||

‘AR 3fd ey faufea: safa-

. AAAT

Correct Answer :-



RS IfScdT JeTET Y Faad -

W%ﬁﬁaﬂﬁﬂmﬁﬁmliﬂﬁﬁﬁﬂ: W:Wﬁﬁﬁ@ﬂ
AFANT | ATGET FAMOT Udfed: HRLIT TT A | ACHeHAT!
ARAAITAT § IRSH T HAd | o 9RA a1 FRaareaaAfd srf
Wﬂﬁ@w:lﬁm%m:, Hﬂgz@ﬁ'ﬁﬁr: dd-3dsTagieT:,
Aagerdifsdr s1afa AG: | 8§ WH ATAE: AARRGHA Hordfed,
fohrq o AW oeaflgsiafd AARYARCT | 31 TaE MfdPR:- “Iegada
eeafea Hanfor 7 7R | e geaer feer vfauca @ 7w |
3egHA Toh of dregd ? Ad aAsegaAT: 3cdield HAg
AGFATHNITSed UIfOTeT: | ¥t TG &r3H¥0], dioausd, STordes o Jor
Frel o fagenfd, &9 WA A=AA ¢ U fdvofd & aFF geguied:
AT T, ? Afaufemtle d e @R uwd Fedied,
Qrieared Hdfed | fdiferer sgideseaeAidica dsa sisaderaie
IEvTed | JeaIed aNtg U dlel sedied | 3eTHAEIAT: WIivered vd
fd  dewcwrer  gurdifsar  Silad @elfed | SeAmreiemesTET:
ETEHcdd Alged | 3R JERY WU SafTosIAET 30T
Rpfea |

gIgEa>ad: &g [dagaread 3¢ srafd-
| Geguy e
, v S
| g A
, TIgEE

Correct Answer :-

. yé’ﬂﬁ‘: FE=a:



9elleh! idedT fATEseea veaed YeHca Faad -

ATSATOT HgAY Fivaedariad ffgd |
TIATATT ATl HigaeAT dfed docad: |l

ATl 9 W HeAl gieXd 7 |
36PN S H AT Tepfalses ||

JadrA™ BT v AT decdd: dicd-

AATT:

, dgd:
3. Q -
. FIsfa o

Correct Answer :-

. i

7 “HPTET IASANH Fegloddl PABUCHEA" 37T

e dUGHEd-
| aifasafa
2. &~ -
_ FHUCHI



e@ieh! afdcar HNfATESeE T Teaed e FIad -

HAZIATHFIHAT: UTer a7 IroleHCHT: |
3TERIA GHIT AT TAT AEI@ TTgT

AT ds§ A AGTHG J&EAFTAVT: |
IoHAlcdl #g AseaASATIIAT AT ||

e sfd ug 31T Fe: 3fEd-

9RTh Iidear Jeifdfesesy vered Y& Faad -

HISAOT FEAY Hiaegdia Aed |
TadAf [err siegear dfcd decad: |

HAGIseTAr I © HeAl Jied 7 |
3EHR Sdd A AT Tehfacsesr |

RrAfafay fF 76 e s

5 1S



dr:

4. 2

Correct Answer :-

21)




URTSE UTScar T9aEd Qgﬁagmi gIaad -

aﬂﬁmﬁﬂﬁﬂmmﬂﬁﬁ|aﬂﬁﬁﬂ: ﬂ?:lDGI':&TU'mﬁ'GﬂﬁTjH
AFANT | ATaEd FAOT Ugfed: A=A TT HAafd | dRHAHA
TRAISeTAT § IRSE T &Afd | o IReH [Bar Faareudaid srf
g &7 | aReEEe § gagEdtad:, #ag@iades: AI-dsae;,
aFleIfzar 9afd AdT: | &9 WH ACIAT: AIRIAIHATT Nvafag,
fohrq & AWl weAdgsiafd AARYAR | 3 TATE Afdhr:- “3ehHid
Reealca ®aifor o #aR: | 7% graeg Heeg vldafea q@ #em” |
oA [ o Aredd ? @9 g eaaHId: 3eAeT HAY
HhAAATERTSod U0 | Wl Iig &AHYYI, dioadsd, STordes o J2
Flel o fagenfa, &9 ©H A-aAE ¢ va fassfa &2 d&g g=gwfta:
UANTHE T ?  HAURSATIT &S §HE  Uled Fodied,
TFTeared dafed | Fdifoe seftereammicy i sisaderis,
HIEUIfed | goAed auiyg W dlel HeTdfed | SAHALIAT: UIoleied Td
far dedcorad gudifsan  Sllad  Teiled | SeANTRITCNRSTET:
Welefadqcid Alged | 3R d FER U SaAderegAET 3o
Rt

9T g7 31 FUTT: faeTa-

1. 99
5 s

HICE]
3 L

4 AT

Correct Answer :-

, wsir A



TIAAH
4, 2 s

Correct Answer :-

qeieh! Tfdcdr HNATESeE T Teaed YeHcel Faad -

HISIOT FedY HiTaeadfa @ed |
TaarA Aerar sieaear afca decad: |

AT I T HAl FT&d 7 |
HEPN Sard H AT Tepfalsed ||

el Ifdear refAfiseed veaed PeHc Faad -

HISATOT HgAY HhiTaegaid e |
IJaaATT Bear &iaeAr afca decad: |l

ATl a: T HeAl gied T |
HEHR S A e gepfasear |

H TAIadr f&eaT uepid: s1did-



el gfdear sreifafdsesd veeed Yedca Fuad -

ATATEFAAAT: T AT FoolormarHd: |
3TEATH AT AT T AEIE T2 I

AT dsg FldAeIHG J&ETFIAVT: |
JoaAlcdl Aig HAIseAATIIATAI ||

S¢ FATcdl $§ Hedoadlded o 3aiersdd-

Correct Answer :-

S ICEIGEIG

T g fy wdT ot ofa S e FifderReR-

1. 55
B ICICCaIECICE]
T
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PANEESTT

4

Correct Answer :-
Tgae

 3TTI:
| 3TTehIeT:
, eI

Correct Answer :-



uf=ie IfSaar g2aed %agdgrdi qIaqd -

AN HEpaT AW feear A0ERAT FEpdemsT | qgamft, sfidof,
TeIciiel 3TET: AN | 5T AT [deaed UrieTaAyg A9 aREroad |
STeTfd HAAT UTiel: A Kade: 3ed | AIsfT FEpasvaE va faegad
| TRTCIeTTST 3TUSIRISINIA: 3cUoel, 3TSTRMSIST UThcloINIc: T HEHISTSIC:
3cUoAl | UIAUT ARCHAT: |al 3 3Tefeea: INT: HEhcIsISIar: Al
HEAIOT F[Eicar Safed | @aer faeer, fHasagr, wWaHe, Savsee-
qAAT T FEPAA | TF FIIUTHFTo=AT HEPAERN #1932 ATfed
AR | 3T NI WMEcAATT i, §eedd, Ae-[aaaedtes T
IET | AG-SEAV-INUAD-3UTANG-TS  Gelel-ehicd-wA1Ceh-Tehiehl- T -haT-
AT A M- AT A TR AU - A RAET-IHIG - IO -S AN TR -
TATA-geifa-Cerarededr: faeaie: 37cia dfehar: 3787ae] | HEpe™ T
ARTET  O&pd:, MAcHRE  ARE, YRER:  @darr: o
TehCTehI TSIl | T: HEDSTN o USTd § UaEAN ATHIUSEIRI
afad: #afd | Redr 3T 3EAH TSCHT | T HEHAS AT &
fecremsi faQveaar AqHeld, Id: RRedr T Halafy arieni¥ee erear
HEHJ-ANT-AUSHINIG, Uq I[ENTd |

TERATIAT: 3OLATHY 56 Alecleidid-

'ara-jfr

4

Correct Answer :-

. oIEAT



TRToG gTecar UeaEg Q;ﬁagcd{ qaad -

HHTOT ﬁﬁﬂﬁﬂm TaTATIdRT | ?ﬂ{lﬁ'ﬁ?{: Hel ol &TOTHTY Gﬂﬁ?;[ o
AFANT | AT FAMCT Udfed: eI TT HAdd | JRHeHA
ARAIEIAT § IRSH T HUd | o IRSH &7 FRAATTATT
Trafdg &7 : | aREEe & adgEdtad:, #dgaiades: H9-dsaen;,
gaFeIfzar 9afd Ada: | & WH ACIAET: AGRREAT Nvafag,
fohrq & AWl eeggsTaid AARYAGOT | 3 TATg sAlfchN:- “3THd
Rerafca ®Rvr 7 #aRd: | 7% graey Heeg vlaulea 7@ #om” |
e [ & @rega ? 69 adseaadnde: 3T FAg
HHAAHAERTSled TT0T: | Fuhl Il &TAHYU, dIoadsd, STordeh o J2
Flel 4 fagenfa, &4 WA A-gAE 3¢ vq fassfa &0 q&r g=guifea:
TANTHYT WA ?  AURNSAUI  SFRver: §HE  Ued fodied,
AFTeTed Hafed | Adifoe sweftereanmicn dcd sisaderas,
IEvlfed | goled auiyg gu dlel #HeTdied | 3GTASHT: WIoleed Td
fd dewcarer  gudifsar:  Slad @eiled | SeARTRITETRSTET:
el cid Alged | 3R Fphvl fAucy SaadelsgAET 3o
R |

FATAET: Helol: o o o IRATT?
, HI wg
2. &TUTATY dliaﬂn\
, FE g
e £
Correct Answer :-

| &TUTATY Shifaga

Topic:- Social Science (SSC)

1) A situation where the number of workers employed in a job are much more than actually required or in other words a segment of the population not
employed at full capacity is known as ./ O fRufa St felt o & @ e ot 3t Tem aread | smavaw | Siftre gidt § a1 guR Weel |
SEE F1 U fwar R gff armar o) w1 ® 7 @ mn @, 39 ¥ U &1 e 2

1. Involuntary unemployment / Ed RISR
2. Voluntary unemployment / Ufeeed SRISTITRY




3. Structural unemployment / SRTIATHB RIS
4, Disguised unemployment / U549 ERUSHIF

Correct Answer :-

« Disguised unemployment / T d SRISHTR

2) Who believed that learning should be ‘the realization of one's full potential and the ability to use those skills for the greater good’? / Tt AT AT
o arftrmH, forlt 31 Ot errar 3iR Siftrer A Siftrer orsd & T 391 FIXIa BT ITUNT A F &rwar $1 ity g1 Tifee?

1.Dr. Y. K. Singh /3T, arg. &. g
2. John Dewey / EiC §é

3. John V. Michaela / St &Y. Qe
4. Charles Beard / Ired s
Correct Answer :-

« John Dewey / Sifet 3%

3) BPL stands for . | Srfiwa &1 favga =u gl
1. Base Poverty Line /39 UTdET omd

2. Base Price Line / 99 ';I'I'é? Fﬂéﬂ
3. Below Poverty Line / felY uidél asa
4. Below Poverty Level / Il Tidel ol

Correct Answer :-

« Below Poverty Line / el ufaét omsar

4) Which among the following is the main industry of the MENA region of the World? / fFafeea # @ #19 a1 {3y ¥ 941 (THETAT) &3 &1 9=7 SEI 82
1. Tourism & Hospitality / G 3R 3nfaza

2. Mines and Minerals / @< 3R @fas

3. Petroleum / UITorgd

4. Manufacturing / fafaATor

Correct Answer :-

« Petroleum / USITorTal



Match the following Sufi Saints with their Silsilas:

1. Nizamuddin Aulia | A.Nagshbandi
2. Bahuddin Zakariya | B. Qadiri

3. Ahmad Sarhindi C. Chisti

4. Milan Mir D. Suharwadi

| FFafaf@a g Fdt &1 3% e 8 Fae i3

1. emaEe sifoar | A Feeed
. SET3E STRIRAT | B. FIEdr
. 3EAS Tig=ar C. fredr
Fea AR D. Ggdarsr

=

(3]

S Y

1. 1-B,2-A,3-C,4-D
2. 1-A,2-C,3-B,4-D
3. 1-A,2-B,3-C,4-D
4.1-C,2-D,3-A4-B
Correct Answer :-

« 1-C2-D,3-A4-B

6) A ship starts its journey from Kandla port on the west coast of India for Kolkata Port on East Coast. Which among the following is a correct order of
the ports of India coming on the way? / T% W8Sl YRd & Uit 9c W Sisdr deweg A Ydf de R Slasrar §a7e & g sroeit amm 3= wvar 8| Fafaf@a o
P I H 31 9T YR F T TE7ME! BT TP Tet 567 82

1. Mumbai, Cochin, Tuticorin, Ennore, Paradip / 93'?»1'%, aﬁ?fl?-f, Fg-ﬂ?ﬁﬁ?—f, UFﬂT, URET

2. Mumbai, Mormugao, Cochin, Ennore, Chennai / Eliﬁlé, E'fR?IJTB-ﬁ, PN, TR, ﬂc—aé

3. Mumbai, Tuticorin, Ennore, Chennai, Vishakhapatnam / ajaé, FEﬁ?ﬁlﬁFf, TR, ﬁﬁé’, ICPUEEIRGE:

4. Chennai, Vishakhapatnam, Haldia, Paradip / Ao ?, ﬁf?ﬂ@m, Slecdl, URIET

Correct Answer :-

« Mumbai, Cochin, Tuticorin, Ennore, Paradip / 93'?»1'%, aﬂ?fl?-f, Fg-ﬂ?ﬁlﬁ?—f, UFﬂT, URET

7) In the sea, plants are restricted up to the depthof_. / §qx ﬁ, Tieif Y ﬂ??lﬁ % ufadfia %I
1. 1000 meters / 1000 FHeT

2. 200 meters / 200 FHeT

3. 20 meters / 20 #HeX

4. 2000 meters / 2000 HeX

Correct Answer :-

« 200 meters / 200 e

8) The gold coins of Vijayanagara empire was not called as / foS TR IUTsg & 9 & Rigs) &) qs qﬂﬂT SITCT AT &



1. Hon /@l
2. Varaha / IRl
3. Gadyana / 31011

4, Niska / AT

Correct Answer :-

« Niska / f@Ear

9) The Foreign Direct Investment was increased from during the implementation of New Economic Policy in 1991. / 1991 | =|'§ 3nffe Hifa
prafaa $ IR yde fae=h e fear ar am

1. 50% to 70% / 50% ¥ 70%

2.40%1051% / 40% ¥ 51%
3.30%t0 40% / 30% ¥ 40%
4.30% t0 39% / 30% ¥ 39%

Correct Answer :-

o 40%t051% / 40% H 51%

10) When did the National Food Security Bill introduced in India? / R & TS Weg GRam RAdws Fa yoqa fHar mam
1. 22" December 2011 /22 f&HR 2011
2. 22" December 2012 /22 f&HER 2012
3.22" December 2014 /22 fEHER 2014
4, 22" December 2013 /22 feHaR 2013

Correct Answer :-

« 22" December 2011 /22 HER 2011

11) Who among the following influenced the development of Project method?/ fFifarf@a # & fras aRatar yqufa & s #t wsnfaa
fram?

1. Socrates / T

2. John Dewey / CICRED|)
3. Pestalozzi / UEATATCET
4. Comenius / PIATAIH

Correct Answer :-

« John Dewey / et 2t

12) Who said that “Curriculum is a tool in the hands of an artist (teacher) to mould his materials (pupils) according to his ideals (objectives) in
his studio (school)”?

| FFaer wer fF "areTHat v Fawr (Rerw) F g0 # Alvg a7 ¢ ¢ 9w a7 e TR (Fge) F e et (35gedl) &
FTER 39l Tl (Refday) #t e @

1. Munroe / 'ﬂ?-RT
2. Arthur Cunningham / 3R &faget

3. Robert Dahl / T STEel
4. H. L. Laswell / Td. Td. OR_Qd



Correct Answer :-

o Arthur Cunningham / 3R i

13) Who described the role of Prime Minister as ‘the linchpin of Government’? / fFaa wemers=it & ﬂﬁﬂ F THR H AR (?:I"ﬂ' $r
FreT) IaATET?

1. Jawaharlal Nehru / STaTeR Tl dg®

2. Alladi Krishnaswamy Iyer / 3eeller POUTEATHT 3T
3. Dr. Rajendra Prasad / 31. qoieg UATG

4. Sardar Vallabhai Patel / G3GR Wﬂ'l'é rc]

Correct Answer :-

« Jawaharlal Nehru / STATEY &Tol ﬁ'&ﬂ?

14) Only two Asian countries are in 1GW country club of Geothermal Installed capacity. Which are those Countries? / ae & TRIUTS ger -
arfir §FRE SAATF 1GW 3T Faa & §1 F quFaT d 2

1. Malaysia and Singapore / #afrar 31 R¥omge

2. Indonesia and Philippines / gz 3k freldia
3. Laos and Cambodia / @m3ie 3R warsar

4. India and China / #Ra 3R o=

Correct Answer :-

« Indonesia and Philippines / Z8fRmr 3R freidia

15) Committee referred to criminalization of politics hinting at close nexus that has come to prevail between the politicians and the

criminals. / _______ G & Ueeifa & srrmeisor &1 o fFan, Y aanst it st & & afass g F e smar g
1. Santhanam / GATAH

2. N.N. Vohra / U, Tef. Al&T

3. Shri K. V. Chowdary / 87 &. Y. aterdy

4. Shri Sharad Kumar / 31 R& $HAR

Correct Answer :-

« N.N. Vohra / T, T, dIX

16) are societies which offer credit facilities for a short term to the farmers. / T AT % ST R A reuEter F
T #or gl vawr #wa

1. Programme for Agricultural Credit Supply (PACS) / T 0T HTCL% ¥ o s (fredivd)
2. Private Agricultural Credit Societies (PACS) / [l ol ar@ afdfawr (dvdiva)

3. Primary Agricultural Credit Societies (PACS) / urafds Eﬁﬁ T afafaar (dodiey)

4. Personal Agricultural Credit System (PACS) / afthard ¥ KoT gorel (drveied)

Correct Answer :-

« Primary Agricultural Credit Societies (PACS) / UTU & PN arg afafaar (drodies)

17) is a writ issued to restrain a person from acting in a public office to which he /she is not entitled. / et sofea # 3@
s FETET § FF w0 F @1 F e al B = gk (Re) ¢ Gasr a8 sl 7@ 8

1. Mandamus / TRETCRT



2. Quo warranto / 3G T
3. Certiorari / 3cUWOT
4. Prohibition / 9fc&er

Correct Answer :-

» Quo warranto / fRR gt

18) Howard Gardner proposed: / §1aTS IS+ o YETTad fhar oT:
1. Theory of multiple intelligence / a’g’-a’fﬁ?-h_clT &1 fRBgia

2. Two-factor theory / &1-R e FAGId

3. Multi-factor theory / Ig-PRD Rgra

4. Group factor theory / lq'l?ij?ﬂ? FRE fAgia

Correct Answer :-

o Theory of multiple intelligence/'@!’g’-a &hdT T g

19) A social science teacher is expected to be an epitome of democratic virtues. Which among the following is a democratic virtue? | AT

et & et Y Seraifas ot 1 velies AT Srar ¢ o f@a # & #31 va Awaitas o782
1. Students have the liberty of attending the class at any time / fITfT 1 forel $iY Torr et & 3UTTYA Bl & TadTaT ¢
2. Distribution of questions among the students / o2t 3t usit o farawor)

3. Accepts and invites differences of opinion from the students in a positive way / HPRIcHD FT H rafdat & Fafel B TheR HEar ¢ 3T mEEia
ERCI

4. Maintaining strict discipline in the classroom / Sh&TT Auea SR AT IGeAT |

Correct Answer :-

« Accepts and invites differences of opinion from the students in a positive way / FHehRTcad T H Tt & FaNe! P TR Har & 3R 3R
PRATE

20) The major demerit of lecture method is: / SATEATA fafer &1 JH@ 7qIoT &

1. 1t is a time consuming process / I& Tdh HFY ole dTell TRHAT &

2. It reduces the attention span / Ig <A1 31T HA A Sl &

3. It encourages learning through divergent thinking / I Trafera fiaa & arcga @ 319 & fieafed & §
4. It discourages self-effort by the student / I& B gRT ATcH-UIATH P gdlcaTTed Pl %I

Correct Answer :-

« It discourages self-effort by the student / & B gRT 3TcH-UITH P gdlcaTTed Bdr %I

21) The purpose of punishment is to decrease the frequency of _ behaviour. / €T &T 32?.’?11' _ gagR #r Hrqf?r N FH FEATE
1. learned / 3TT9TTAT

2. undesirable / TSI

3. positive / HhRIcHD

4. desirable / ATSAT

Correct Answer :-

« undesirable / 3TATSAT



22) The is indeed the foundation of socialization because it is the first contact of the child. / IEdd A FATSIHIT Hr AT §,
FAfF Tg Fret T2 T TgaT G eraT 81

1. neighbors / TEIHT

2. family / IRAR

3. peer group / & g
4. environment / TR0

Correct Answer :-

« family / aRar

23) The Constitution has fixed of the total membership as quorum for both Lok Sabha and Rajya Sabha. / G F g v
TSTwHT At & fAT FriAE FEAT (FRA) F T F FA FGTIqT F FraiRa fFar 2

1. half / 34T

2. one-tenth / Teh-cgaT
3. one-fourth / t"cﬁ-iﬁ?-l'lé
4. one-third / U?ﬁ-ﬁ?-'lg
Correct Answer :-

« one-tenth / Th-Td

24) Group activities are the cardinal exercises in collaborative learning, which are aimed to: / g R H‘I’H'\ﬁil? fRreyor & qET K ki) %’,
ot 3e8e T A §:

1. Boost pride among the students / Tt 3 At aerar
2. Reduce the burden of the teachers in their instructional style / fRIGTeT I SYST Y STch [AE LMD Ael 3 FaT FAT

3. Make the classroom active and participatory in nature / h&TT Gl Cl'tfﬁ # aftre 31k TEamel gamEr

4. Generate synergy among the members of the group / Hg & Fexal & ST dareTdel geTel

Correct Answer :-

« Generate synergy among the members of the group / g & TCEAT & A ATl Felrem

25) Which Article of the Constitution makes it clear that Panchayat Raj Institutions have some original functions and some agency functions? /

TRYT T FeT AT HeJede Ig T FT ¢ B Tard T FUst &F 6 79 AR T JfFwor (o) w9 P
1.243-E /2438

2.243-G / 24330

3.243-F / 243-U%

4.243-0 / 243-31

Correct Answer :-

o 243-G /2433

26) Which Five Year Plan was drafted under the leadership of P. C. Mahalanobis? / #le #f daadta aisren .. #ereafaw & aqgea #
R & T o

1. Second / fghar

2. Fourth / Ttefy

3. Third / ™I



4. First / 9IH

Correct Answer :-

« Second / fgd g

27) Which of the following is commonly used to record the informal teacher observation regarding students in and outside the classroom? /

FaeT 3TRNT ATHEE: FET F e 3R R Rt & fvg 7 setvaies Riars sadisa Rers s & foe B Jard?
1. Cumulative record / Ty Repis

2. Checklist / SiTa-FY

3. Rating scale / a1 fuRoT A1

4. Anecdotal record / SUREHIH® Rbls

Correct Answer :-

« Anecdotal record / SURSIFTH® Reblg

28) Which among the following is typically used to display all kinds of creative works of students in the classroom? / F8&TT ) faa;uﬁw’r F Tsit
IHR & TS H1AT ) Teidid Fa & v Frafaf@a § @ fras saaier {fdee w9 @ B srarg?

1. Flannel board / FoleTel aYS
2. Black board / %El?ﬁ'q EIE)
3. Peg board / U1 1S

4. Bulletin board / gﬁﬁc_{ CIE)

Correct Answer :-

« Bulletin board / gﬁﬁc_{ as

29) Where do Nyaya Panchayats prevail? / =10 991Id Fgl Jafad 82
1. District / foreIm

2. Village / afa

3. Block /ediiep

4. Corporation / IGrIE:

Correct Answer :-

« Village / 3t

30) How can a social science teacher effectively and experientially transact the concept of sustainable development among students? / Teh

wrTTor faremer vt et # waa Rsre $ sraumon F1 weme 3 sreperarca® G § F g T FFaT g2

1. Conducting brainstorming session on sustainable development / Tdd T T ﬂ@'ﬂﬁ_@ﬁﬁ (Wﬁﬂ) T FaTferd & |

2. Showing a movie on environmental preservation / TATARUT EI&TUT IR Teh Rhedt @ |

3. Undertaking a field trip with the students to an ecological hotspot / a2t & ar v uREufadhT sieruic W ue &1 I &1 1fiica |
4. Delivering a lecture on sustainable development / Tdd I U ATEATA Sl |

Correct Answer :-
» Undertaking a field trip with the students to an ecological hotspot / Tt & T1 veh UrR AT gicEuic IR T &7 ITAT &7 &Tiicd oI |
31) How many types of urban local governments currently exist in India? / TR ® FIATT H fhdar TR A T TaT WHER &2

1.6



2.7
3.3

4.8

Correct Answer :-

32) According to the State Banks (Repeal and Amendment) Bill of 2017 which among the following subsidiary banks of SBI ceased to exist? / 2017 & €€
d% (Frwer 3 weven) RAdas § 3qer wadas & Tafaf@a Alge gegs 396 & § sl ar 99 & s

1. State Bank of Karnataka / &€ b 3iT% PeAleh

2. State Bank of Punjab /e Jb 3T e

3. State Bank of Meghalaya / ¥¢€ S 3T HeTerd
4. State Bank of Travancore / ¢ d& 3% FTGUTAR

Correct Answer :-

o State Bank of Travancore /Q%?I JF 3TH AGUTRR

33) What does Pir mean in Sufi tradition?/ﬂ'\‘ﬁ WU A I &7 F247 37 ar &2
1. Supreme being / UXHATCHT

2. Greatest of the Sufi saints / T Fel H FIH FglA

3. None / ﬂﬂé e
4. Spiritual Guide or Elder / TS ANTCRiD a1 g\_ff

Correct Answer :-

« Spiritual Guide or Elder / 3T&@I® arfeRie ar @f

34) What is not true about Raja Ram Mohan Roy? / TSI I Algd T & I H F41 9T ¢t &2
1. He abolished sati system. / =8I~ Tl YT ST T faar|

2. He founded Banaras Hindu University. / Srg‘a BEIEEs) ﬁq Trafaarea & Tummar

3. He founded Brahmo Samaj. /Srga ERIESELS) fr Tamgar $ir|

4. He was an advocate. / dg Tdh Thre A

Correct Answer :-

« He founded Banaras Hindu University. / 3egiel JaRT 1?@ Trafaarers fr TamTEaT FHiy

35) What is true about Simon Commission recommendation? / FTSH FeET Hr RAENT F X & F41 7 &2
1. Abolition of Sati / il T BT I

2. Abolition of legislature at Centre / % # faemRiesT ®1 3

3. Abolition of Child marriage / d&Tel faarg &1 Rkl

4. Abolition of Diarchy / §¢ I ®T IHeH

Correct Answer :-

« Abolition of Diarchy / 3 A BT 3T

36) Bhakti cult was spread in Maharashtra with the teachings of N ¥ 39t ¥ HFT gy AgRISe F har

1. Tukaram / JePRTH
2. Jyaneshwar / SITIRaR



3. Ramdas / JTHSTH

4. Chaitanya / e
Correct Answer :-

* Tukaram / JPRTHA

37) Quantitative restrictions imposed on imports to encourage domestic production are known as ./ El'l?i; 3cUEsT H WicHIed ®ier & AT 3mara
9T AT AT AECHAS g€y Hr F T H A AT F

1. Tariffs / UR[eh

2. Subsidy / TSTHEIIAT (ATH)

3. Quotas / Eoral

4. Embargo / SAR fday

Correct Answer :-

e Quotas / Eoral

38) First five plan was based upon which popular economic model? / YIH Goauid Aeta fFw AFAT 3w Atza W amaRa o
1. Lewis Model / &8 Hisel

2. Mahalanobis Model / FeTaIa & Hisel

3. Cobb-Douglas Model / PIT-ZTTT AS

4. Harrod-Domar Model / 3-31F AlSeT

Correct Answer :-
« Harrod-Domar Model / ¥3-318X AlSeT

39) Which Sufi saint propagated that devotional music was essential for being closer to God? / & FY ¥d ¥ OR fRar & afFa wolla, e &
9 g & T anaas 2

1. Saikh Muinnuddin Chisti / & Higgera forea
2. Shekh Alam Bukhari / @ 3Teld @Y

3. Syed Muhammad / 8¢ HeFE

4, Kwaja Fariddudin / SaToT %3 3\@?2 bl

Correct Answer :-

+ Kwaja Fariddudin / Aol BRIGGE M

40) Which were the two cave paintings of Gupta Period? / J[CT HTel & ar BT R sla a &
1. Ajanta and Bagh / 3fSidT 3R &T91

2. Ajanta and Ellora / 3fSTdT 31R T@ART

3. Lomas Rishi cave and Bagh / Y By Rical 3R 5™

4. Ellora and Bagh / QFﬁT[ 3R ™

Correct Answer :-

« Ajanta and Bagh / 3fSaT 3R g

41) Which Women leader represented India in Second Round Table Conference? / f® AfgaT aar & Eﬁ?ﬁ'ﬂ' MIAST TFAST H AR FT Ifafaf®eT
o

1. Sarojini Naidu / BRUCEIR] g

2. Aruna Asaf Ali / 3150 3{IW 3l



3. Kamala Devi Chattopadhyaya / &HaT &at ilé gy
4, Vijaya Laxmi Pandit / fasran qet dfsa

Correct Answer :-

« Sarojini Naidu / TRIGF AIIG

42) Ryotwari System was first introduced by Thomas Munro in ____./ YIdaTd) sqa¥yT @ Jgo AT ﬁﬂ'{T @R # AR # 7E A
1. Bengal Presidency / STTd SRS

2. Bombay Presidency / i URfieadt

3. Madras Presidency and Bombay Presidency both / H&RT DSt IR s ORfTEf gt

4. Madras Presidency / Ha™ TS

Correct Answer :-

« Madras Presidency / e IS

43) Who won the ‘third battle of Panipat’? / “GTefiad T T e et Sfiar?
1. Hem Chandra Vikramaditya / 39 9% faspaiiea

2. Sher Shah Suri / 2R 8 &

3. Ahmad Shah Durrani / 3gHg XTg gRi-!

4. Ibrahim Lodhi / 3fed aeft

Correct Answer :-

e Ahmad Shah Durrani / 3[gHq RI8 §Ti=ﬁ

44) Who was the founder of Tuluva Dynasty? / Je[d TSEY & FEYUF HiT 42
1. Deva Raya I/ GaRTT GUH

2. Virupaksha IT / faurer T

3. Tirumala Raya / fa%eter I

4. Tuluva Narasanayaka / Je[dT cAYHATIHRT

Correct Answer :-
* Tuluva Narasanayaka / JefdT AXHATIRT

45) Who was not the prominent literary figure during Babur’s time? / ®lsT aTe¥ & T#HT #H YHE AeAFR gt am?
1. Khusrau / W

2. Mulla Shihab / Heell Hed

3. Sheikh Zainuddin / @ SNl

4. Khwandamir / SIFEHR

Correct Answer :-

o Khusrau / w

46) During the reign of Mauryan Emperor Binddusara which heterodox philosophy flourished? | A waATE ﬁﬁaﬂ' F AT F SR Fi @ dafe
ST HelT-FelT?

1. Vaisheshikas / 3RmfRrepra
2. Ajivikas / ATTSITaepra
3. Nyaya / =I1d

4, Nityavadi / feamard



Correct Answer :-

« Ajivikas / TS faeEra

47) Albania, Bosnia and Herzegovina, Bulgaria, Croatia, Greece, Macedonia etc. are known as Balkan countries. The term Balkan is derived
from the following landforms? / 3reaTi=aT, SIRTAT 3R gSRNTAAT, gemiaT, wieRmT, FiH, AVSIaT 3fe FY aTew I & FU A WHT 1T 81 STebd
wreg e y-srpfaat & | fReud forar man &2

1. A Lake / Teh el
2. A Sea /T Hdg
3. A Mountain / Th LCGH
4. A River / U 4T

Correct Answer :-

« A Mountain / T dd

48) Which of the following is a pull factor for Migration to the place of Destination? / fAFfaf@d & ¥ i A1 Idey TYF W g & AT wH ged thaex
(Hiaer T ®RF) §?

1. Unemployment / SRISTTIRY

2. Peace and stability / enifd 3R RErar

3. Political Turmoil / TSTefa® Tolel

4. Poor Standard of Living / &SR faed X
Correct Answer :-

o Peace and stability / enifa 3R R

49) The nature of social science is best represented: / TS fAFH F U H TaMA aiF A IRiwrw@r gl
1. As a unified subject / Teh TehIehd AU & & H

2. As an independent subject / Teh T Taw & §9 H

3. As a dependent subject / Teh fAR fawar & &7 3

4. As not a correlated subject / Tch W@' ICLR TR ) ?-I%T

Correct Answer :-

« As a unified subject / T Teh hd v & FUH

50) “To monitor daily performance and to encourage students to reflect on their own learning.” This is the purpose of: / “ﬂﬁ?ﬁm Cal

Frfteror w1 SR faenfial &t xaw &t e #) ybe A F Y vieaRd &A1 a8 A 1 3R §:
1. Diagnostic assessment / SiGT{eieh 3TTehelel

2. Anecdotal records / SUTEITATCHE Repis

3. Non-referenced assessment / 3G 187 3Tholel

4. Portfolio assessment / YW ordT 3Tehelel

Correct Answer :-

« Portfolio assessment / GIEHITOIAT 3Tehelel

51) Sedimentary rock change to metamorphic rock because of which of the following process? / 3/@uTé! 95T, HITART IgHI & HAfafad & A
5w uftear & ST yRkafdd g et 22

1. Re Crystallization / e e iaRU

2. Uplift Weather and Erosion / 3cdTdl #iga 3R 3rRea



3. Fusion / e
4. Burial-Heat and Pressure / gha-aTd 31X g
Correct Answer :-
« Burial-Heat and Pressure / gha-aTd 31T grar

52) Which among the following is not an ideal teaching skill for a social science teacher? Fafafeaddam Uh o fagm fRrere ¥
fore we et g wwra T R

1. Optimal movement in the classroom while teaching / f18T0T & R wet sEAH Tt |

2. Eye to eye contact with all the students / T faanfdat & @rey 31r@ & 31M@ TUH AT

3. Stimulus variation while lecturing / SITEAT HI I FEIU [HeaTdT|

4, Maintaining strict and rigid discipline in the classroom / P&l T T 3R HoR SR §-1¢ QT

Correct Answer :-

» Maintaining strict and rigid discipline in the classroom / P&l o T 3R FOR SR §1¢ QT

53) Which among the following is not a type of assignment in the strictest sense? / fafaf@ad &= ﬁ'ﬂa gt o Th YPR BT ;m‘—ﬁm
T 32
1. Curricular assignment / U'I'c?flﬂT Wﬂﬁ"\’l?—f

2. Remedial assignment / SUARTcHD HHAICRIA

3. Revision assignment / gﬂﬁ'@ﬁ H’Hﬂ?{?lﬁ
4. Preparatory assignment / URfFHS W?H

Correct Answer :-

 Preparatory assignment / URfFHS Wﬂ?{?l?—!’

54) Globe is a classic example for: / LG UPTI D 3PP 3areXvl %:
1. Projected aid / JTtepes AT

2. Audio visual aid / 38T fars]3rer AU

3. Graphic aid / TTTthes @Y

4. 3D aid / 3D |14

Correct Answer :-

» 3D aid /3D |14

55) In an ecotone, the species which become abundant are called? / T& THfAST (FHENA) A, T yonfadr et aAEn 30F @ et & 378 Far
ST 8?2

1. Edge species / VT yatiaar

2. Keystone species / e gsiiaar
3. Endemic species / Ui genfaar
4. Foster species / ®EeX gaTfaar

Correct Answer :-

« Edge species / ¥ gaiadr

56) Which one of the following is slow downhill movement of debris? / fAFT & ¥ Fiar ® vs raAw N e srevameh afy 32



1. Creep / T

2. Earthflow / HeTuare

3. Landslide / ${F@et
4. Mudflow / Ushydrg

Correct Answer :-

« Creep / T

57) Which of the following country is the largest producer of Uranium? / RF=ifaf@a & & =l @r o ZISﬁITH' FT GIH I3T IUGEHF &7
1. Kazakhstan / SoTRIEI

2. Canada / SelT3T

3. Australia / 3-1@1%1'5”

4. USA / €gh T ARSI

Correct Answer :-

« Kazakhstan / PRI

58) Which day is celebrated as Earth Day? / f@ fer & qedt Raw & w7 # #eman sar 82
1.22nd March / 22 &I

2. 5thJune / 5 S

3. 16th September / 16 fAda”

4.22nd April / 22 3%

Correct Answer :-

« 22nd April / 22 3

59) When was the Gandhi-Irwin Pact signed? / Tﬁtﬁ-ﬁﬁq Q’I’lﬁﬁ?f R $9 gwaTerR fHar war ur?
1. 1931

2. 1929

3.1935

4. 1932

Correct Answer :-

« 1931

60) Per Capita Income =

vt safe sma =
Income

1 Employment rate

S

AR R

National Income

Population

TP 3

SIS

2.



Taxable asset
3 Population
PR g "ufd
S
Population

4. National Income
SGRSRE]
ST 3

Correct Answer :-

National Income

Population

TP e



